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1 1, 11 2, 2, 1 1 3 1,
—+ )Y — —(=+ (2= ZY + )X o4+ (24 2 =
G35~ 5G+ED G+ 5+ (G +2)
3 1, 31 3, 3, 3 1 >
Y - (=4 (2)) = 44+ 2y —Z 4+ - x3° =
(4 2) 2(2 (4)) ( 4) s t5 X
1 1 1 1 1 31 2
A4+ Y + 2 x = 422 = =P —Z(=+ )=
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1, 1 3 12, 1.1 3,
P ——x24+32= IR (2 (2P =
(G+5P-1x3+3 -3 5G+CP

3, 3, 3 1, 1.2 3 3,
IR+ 422x I = Y- Y x 24y =
G- 3123 (37 =37 37G+3
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41 2, 1 1 3 1, 433 33
= — =V + )X =+ (=F+=)Y=—=]1—
) 50 ((5) 5) 2 (4 5) 400 400
1 3 3 1 2117 37
= (—— 4+ Y -2+ - x32 =1 =26—
)= 32) ( 4) 5 2 &0 80

4353 153 I 1 3
= =21 (z— 2 —(

s+t 2)=0C5)
200 200 5 6 42 5 1800
155 3 1 2, 1.1 3, 31
= = — —_— — — —(—=+(— = (——
x =% 5737 733 EI =)
201 9 1, 1. 2 3 3 12607 1807
=__=12= - I - (2+ P = () = (A4
1 16 ((3) 2 3 G*+3)" = C00) ™ Chgen)
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